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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections

according to the detailed instructions given therein.
A 0 I8 U U9 T (80) 3l @1 ® W I (03) Wl
‘@, W qAr v H fanioig g1 Remfiat o1 5=
wuet # Ry T Reg e @ SR @ o @
SR T 8
Section-A / YUs—d

(Long Answer Type Questions) / (€78 I<II T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are

required to answer two (02) questions only.
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A @rs P H AR (04) < I wE 7
A YN @ fov SN (19) e fEiRa €1
IRt &1 ST § ®ad &1 (02) Tl & ST o
g |

1. Discuss the important social welfare schemes of the

Indian Government.

RA WREHR B TG@ FHITD DA Dbl A3 Bl
Ui BT |

2. Discuss the problems in achieving National Integration
in India.

IRT § I THIGRT Bl Y Hee H 37 dren
TR BT 2T BT |

3. Describe poverty alleviation programmes in India.

IRT ¥ T RO BRIHAT BT U DI |

4. Evaluate various efforts of administrative reforms in
India after independence.

WA & YTAl] ARd H YNNG guR & fdfdy
YAl &7 i DIt |
Section-B / YUle—Y¥

(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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dlc: Tue ‘@ H e (08) Y SN U ¥ W B
TAG Y b faU M (08) ofp fwiRd
el o1 g ¥ dad R (04) U B IR <A
2|

1. Describe the centre-state relations in India.

IR H Drg-Nod AR BT JUI BT |

2. Give suggestions in increase agricultural productivity
in India.

TR # B Saedd § g 2 gama |
3. What are the main elements of energy conservation ?
Explain.

Sl RV & UG qd a1 © 2 |HSIsy |

4. What is ‘MNREGA’ ? What are its challenges ?
FACI R T ? 3D T GAIRAl /T 8 ?

5. Discuss the objectives of New Industrial Policy in
India.

WRe ¥ T3 3ieife Aifd & Sewdl o e I |

6. Write a note on environment and its challenges.
YIIERYT U4 IFD YT gAIdl W Ue e femoll
STy |

7. What steps have been taken in the five year plans in
India for development ?

IR ¥ GAqYTg AR @ did fderd & foru
TN 6y T § ?
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Evaluate the importance of appropriate technology and
clarify the limits in enhancement of technology in
India.

T Tl B FHIE BT | 9Rd H qbeld B
frepTe ¥ o aTell I BT W BT |

Section-C / ¥Uvs—1T
(Objective Type Questions) / (@S T)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T H g9 (10) TS W [ W 2| IS
g @ fov e (01) o FEiRd 1 39 W @
ol o et 2|

The first industrial policy of India was declared in

1948. (True/False)
IR § YH Srenfid ify o =wom 1948 F @Y TS
o | (5 / 3rc)
‘NABARD’ was set up in 1982. (True/False)
4TS’ B AT 1982 H T3 | (1 / 1)

When was the first administrative reforms commission
constituted ?

Y YAMS GUR SN 6T TS He gafl ?
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Article 17 of the Constitution deals with the abolition

of untouchability. (True/False)
SR T STTBT 17 SRYLIAT (IR | TG 2 |
(W / 31c)
The NITI Aayog was set up in January, 2015.
(True/False)
T STINT BT TS SIHaRY, 2015 ¥ foham 17|
GRVAHR)

In which Article of the Constitution, the Right to
Education (2009), Act has been incorporated.

frem @1 afeR sfdfrem (000) Wfaew @ fa
FFeE | Sllel T &

7. Family Planning Programme was introduced in 1948.
(True/False)
IRAR AT BRIGH B RO a9 1948 H TS |
GRVARR)
8. India has adopted a mixed economy. (True/False)
TRd # A sreferaven @1 sremEr W 2|
GRVARR)
9. Five year plans in India started in.
WRA # T9au AGHR IR g |
10. Sarkaria Commission is related with the problem of
corruption in administration. (True/False)
WONIT HARM TR H 9CHR & a9 o
IR 2 | (¥ / 37)
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